

$f(n) = |n-2| - |n-1| \leq km$
 km خط است و k و m اعداد صحیح هستند.
 $(y_2-1) \cdot (0-2) = 2$ (نقطه)
 $k = \frac{0+1}{0-2} = -\frac{1}{2}$ ✓

الف) $y = (n - 2[\frac{n}{r}])^r$
 $n = rk + r \rightarrow r \in [0, r) \rightarrow [\frac{n}{r}] = [\frac{rk+r}{r}] = [k + \frac{r}{r}] = [k+1]$
 $\rightarrow k \rightarrow n - 2[\frac{n}{r}] = rk + r - 2k = r$
 $y = r^r \rightarrow r \in [0, r) \rightarrow y \in [0, r^r)$ ✓
 ب) $\sin n + \log y - \varepsilon = 0$
 $\log y = \sin n + \varepsilon \rightarrow r < \log y \leq r + \varepsilon$ ✓
 $\frac{n^2 - \varepsilon}{n^2 - r} = y \rightarrow n^2 - \varepsilon = y n^2 - r y \rightarrow n^2 - y n^2 = \varepsilon - r y$
 $n^2(1-y) = \varepsilon - r y \rightarrow n^2 = \frac{\varepsilon - r y}{1-y} \rightarrow n = \sqrt{\frac{\varepsilon - r y}{1-y}}$
 $\rightarrow + \frac{\varepsilon}{1-y} \rightarrow R \in (-\infty, \frac{\varepsilon}{1-y}] \cup (1, +\infty)$ ✓
 ج) $\frac{\varepsilon}{1-y} < 0 \rightarrow R \in [0, \frac{\varepsilon}{1-y}] \cup (1, +\infty)$ ✓
 $a+b+c = 0 + \frac{\varepsilon}{2} + 1 = \frac{\varepsilon}{2} + 1$ ✓

الف) $y = n[n] \rightarrow n \in [-r, -1) \rightarrow -r n$
 $n \in [-1, 0) \rightarrow -1 \cdot n$ ✓
 $n \in [0, 1) \rightarrow 0$
 $n \in [1, r) \rightarrow n$
 $n = r \rightarrow \varepsilon \rightarrow R \in [0, \varepsilon] - \{r\}$ ✓

ب) $y = n|n| - n$
 $-r \leq n < 0 \rightarrow -n^2 - n$ ✓
 $n \leq r \rightarrow n^2 - n$ ✓

الف) $f(x) = n + \frac{1}{n} + \sqrt{\frac{n+1}{n}}$
 $r \leq a + \frac{1}{a}$ ✓
 $r \sqrt{\frac{n+1}{n}}$
 $n > 0 \rightarrow f(n) = r + \frac{1}{r} \rightarrow R \in [r + \frac{1}{r}, +\infty)$ ✓
 ب) $y = (r - \sin n) \cdot (1 + \sin n)$
 $= -\sin n + r \sin n + r$
 $\sin n = 1 \rightarrow -1 + r = \varepsilon \rightarrow R \in [0, \varepsilon]$ ✓
 $\sin n = -1 \rightarrow -1 - r = \varepsilon \rightarrow R \in [0, \varepsilon]$ ✓
 $\frac{-b \pm \sqrt{b^2 - 4ac}}{2a} \rightarrow -1 \pm r = \varepsilon$ ✓

$y = \frac{n+1+n+1}{n^2+n} = \frac{2n+2}{n^2+n} = \frac{2(n+1)}{n(n+1)} = \frac{2}{n}$ ✓
 $n \neq 0, -1 \rightarrow R \in \mathbb{R} - \{-2, 0\} \rightarrow a+b = -2$ ✓
 $\sqrt{n} = t \rightarrow \frac{t^2 - \varepsilon t + r}{t^2 - r t + 1} = \frac{(t-r)(t-1)}{(t-1)(t-1)} = \frac{t-r}{t-1}$ ✓
 $\frac{t-r}{t-1} \rightarrow y = \frac{t-r}{t-1} = \frac{t-r}{t-1} \rightarrow [r, +\infty)$ (I) ✓
 $\frac{1 \leq t}{t \rightarrow 1^+} \rightarrow f(t) = 0 \rightarrow f(t) \rightarrow 1 \rightarrow (-\infty, 1)$ (II) ✓
 $R \in (-\infty, 1) \cup [r, +\infty)$ ✓
 ج) $f(1) = \frac{1}{r} \left(\frac{9}{r} \right) = \frac{9}{r^2} = 1 \rightarrow r = 3$ ✓
 مجموع = 3 ✓

$f(n) = \frac{n(n^2-1) + r(n^2-1)}{(n^2-1)} = \frac{(n^2-1)(n+r)}{(n^2-1)}$ ✓
 $n \neq 1, -1 \rightarrow f(n) = n+r \rightarrow f(1) = r, f(-1) = 1$ ✓
 $R \in \mathbb{R} - \{1, r\} \rightarrow 1+r = \varepsilon$ ✓
 الف) $f(n) = \sqrt{bn+c}$
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 0 \rightarrow [b, +\infty)$ ✓
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 1 \rightarrow [b, +\infty)$ ✓
 $g(n) = \sqrt{r+n^2+r} \rightarrow R \in [r, +\infty)$ ✓

الف) $f(n) = \sqrt{bn+c}$
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 0 \rightarrow [b, +\infty)$ ✓
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 1 \rightarrow [b, +\infty)$ ✓
 $g(n) = \sqrt{r+n^2+r} \rightarrow R \in [r, +\infty)$ ✓
 ب) $a = 0$ ✓
 ج) $f(n) = \sqrt{bn+c}$
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 0 \rightarrow [b, +\infty)$ ✓
 $n \rightarrow r \rightarrow \sqrt{br+c} \leq 1 \rightarrow [b, +\infty)$ ✓
 $g(n) = \sqrt{r+n^2+r} \rightarrow R \in [r, +\infty)$ ✓